EARAZROREIERT — 2 N—XBISY —F 20185F9R16H (H) 4MIBR+#H4H

Ll 5% 3 KEF [IBTE] Bkh ‘[fﬂi] W ‘[%iﬂ%lﬂsﬁl] - | # ) 18000 TE
[~®4] 1 % :5,000,000  ~ 2 3% :2,000,000  ~ 33 :1,300,000 ™ ~ 43 :750,000™ 5 i :500,000 M
E % E BERR Mk HE %F (FE) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
1 5|V1->U523— # 3 | AR 1:(5_3).8 4-4-3-2 [37.8|89.4 | 3 | 500 Efﬂ?f (ER)
RiYZZXE—3IZR8— BARHHRI-LR 2| paivas
27|14 Ev T =7 RN i 7 Il el Rl IR AR = S B
RiFATATv— BRU—LI>TLL HEI S
3lglig| ¥TvavvesF i3 5?8%*6: (11514/3 12-12-12-9 | 37.9 | 82.4 | 7 12(7);1 giﬁ% (&E®)
LA 2avf-—5— B:v4xVIF Bk —8l
S RAIA—Z 4 3 EI:IIS-_O-?A—D (11:554/.49) 13-13-8-4 | 38.6 | 79.9 | 2 488 iﬁg? €3
Rig—MVERYIL B4 RFUTHTF 0 |xt #a
S5E4—Jb—h 4 3 fﬁ%ﬂﬂ 1:(555).8 14-14-11-6 | 39.2 | 72.4 | 4 520 §§L§:(¥§>
QT T4—R Bi1-RFATAT ®2 hsait s -zenx
4—31 X [B] 3 | BES- (175;78) 5-4-4-5 |39.6| 72.7 | 5 | 502 ?%Eﬂé{(%i)
SN= KRN BTITYRB © F—L— - SxIN> - T7—LERS
N N BEEE :56. ~7-8~ . . PRKRE (FR
NRILF w7 # 3 | BER (12516/22> 8-7-8-8 |39.8| 69.5 | 15 (4_328) TREE
SLNMVTTY BiNUTy RPZ— Hewis
7I5 X [B] # 3 | Bie= 1:(526).5 1-1-1-2 [ 40.7| 67.9 | 12 | 470 ﬁ%g (F#)
R:O-KAFA7 B:vvbved— L Py
LU tAY T4 43 %E?% (13:517/.21) 15-15-14-13| 39.3 | 61.5 | 10 | 418 g(i)ﬁ@ffiﬂ_;w
XL THANXN B2 TU—LET R (-2) J—HrTr—L
10510l F=7FTU>tZ 3 %{%% 1:(%3).1 10-10-8-11 | 41.4 | 56.4 | 9 | 444 %E'i*a”gfﬁii
LANTI—TN BELIT L EY— N s
» 6l ¥¥=>7LvyFz i3 5@3%#"% 1(75?:; 2-2-4-9 | 41.8| 56.9 | 14 (4:;53) i%éi (&R
RA—YXA A1 Bi¥vZ>Trey b SEREHIS
olslg|*—37 47U [B] # 3 | lIBE= 1:(558).9 57-66 |42.6| 52.3 | 13 <4+928) ;géii)
Rit>r/A7AS BiKy NTFHTFI- WA it
13 NCESI A% 1= 43 Jslé%GF% 2:(0;)).3 5-4-14-15 | 41.7| 40.3 | 6 492 ﬁggg (E®)
QAT ESAT BKLAFLIY—> O | B
1algligl 7T -85 81 2 i 3 %g% 2:(0;).2 8-9-6-11 |44.7| 40.4 | 8 (4:328) ié;ﬁ% (&R)
STANNTTFY — BNTEA XA XET (B) #BIA-—KL—>Ya>aElr
5110 | 1FHFT1—> # 3 %ﬁf‘ﬁ 2(701t>2 10-10-13-14| 43.4 | 37.6 | 16 | 434 g’ggﬁgi_ﬁi)
LAV E DL P 19| Zhoagsg
N 3 = . —16-16—-
161713 71 bty > [B] >3 éﬁéfg% 2.(052).1 16-16-16-16| 41.1 | 24.9 | 11 (450) %Eéiﬂﬁ(%i)
ATz —JI B:F2T+—1Cv b TADAS
@ X1L4A
) 51.2-38.0
NA> 24 L | 12.7-11.4-12.9-12.6-13.0-13.2-12.7-12.5-12.8
@ 11— F—EBIBAL
13—F— | (x12,6,14)5(4,3,9) (1,16) (2,10)15,7,8-11=13
2a=7r= 12(6,14) (4,3,5) (1,9)16(2,10) 15-7,8-11=13
d=zr= 12,14,5(6,3) (9,16) (1,10,7)8,15=2(4,11)=13
AT =7F= (12,%14,5)7,3(9,8)1(6,15) (10,16)=11-2=4=13
0 ILRE
BB 5 70 | [ 74 K 5-14 450H P& 3-7 890M &R | 5-14-15 3,630
7 B 5 190H 5-15 1,340 5= 5-14 990MH 3EE [ 5-14-15 18,130M
14 130M 14-15 660 BB 5-14 2,200
15 310

ABICOVWTRDTEEERROODE. TR LIV,



